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POLITICAL SCIENCE
( General )

( Political Theory—I )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
were frarcare fAot seis Seq fors

(a) “Politics is a authoritative allocation of
values.” It is associated with

“IERNS 2 oA BT FEPTe S iR 1”7
FYFRT 7S GfeS Jfeew 2’7
(i) H. Lasswell

%P, A

(i) Charles Merriam
blefe, CIRE

(i) David Easton

(e 38

({ Choose the correct answer )
(5% T A Trea )
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(2)

(b) Which of the following is not a traditional
approach?

TER (FIACD] ARIRITS GBS w2y 2
(i) Philosophical approach
e gt
(i) Historical approach
Az qiReed
(iiij) Behavioural approach

IReR iEeen

( Choose the correct answer )

( u% Teaco! AR Tfrear )

(0 Who is the author of the book,
Political Behaviour?

Political Behaviour 94 fForeR @3
@ ?
(i) Robert Dahl
Qb &
(ij) Arthur Bentley
1< @O
(i) Frank Kent
@ @

( Choose the correct answer )

( wm TeEach! Afe Bferea )

8A/322 ( Continued )

(3)

(d) According to Bertrand Russell, Power is

G ICHAT TS O TA
(i the capacity to influence the action
of others

T FRAS do’ R o[ A

(i) a certain kind of human
relationship

a3 fAfdR wom T oo

(i) the ability to determine the
behaviour of others with one’s own
wishes

e TRINCS WA TR [T FA TN

( Choose the correct answer )

( w= Tesch! AIfe Sferea )

(e) Legitimacy is the basis of
e e fefe

(i) economic power

T FAOR
(ii) political power

TGASF FASH
(iti) ideological power

(oS FHASH

( Choose the correct answer )

(% Tech A e )

8A/322 ( Turn Over )



(%)

(i “Rights are universal.”

S ST 17
( Write True or False )

(wm & S5 forar )

(g) “State is a necessary evil.” Who is the
supporter of this view?

“qB G ATEAT TS 1”7 G o6 (A TN

Fffes 2
(i) Liberalists
CHRSRARCE
i) Marxists
TAPTRCE
(i) Idealists
- SR
( Choose the correct answer )
( m Teaco! AR Tferear )
2. Write very brief answers on any jfour of the
following : 2x4=8
o R leeT wifReR S 5y T for
(a) Write two drawbacks of traditional
approach.
SRS 7RSS YOI ST oy |
(b) Mention two criticisms of post-
behaviouralism.

GRS GRS YBI FCAA S 41 |
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(5)

(c) Mention two sources of Power.
HIOR 151 ST TCEY 741

(d) Write two differences between Power and
Authority.

O] [E (IYSIT & 01 14 fora |

(e) Write two features of Rights.
SR qG1 (A forsr |

() Write two characteristics of Marxian
State.

w8y 18I o1 ey fer |

3. Write short notes on any three of
the following : 5x3=15

wod A =@ & e fefbrm oy Gt fora

(a) Nature of Political Science

IETOREAT oS

(b} Legitimacy
[eES)

(c) Rights and Liberty

AR = FIATS!
(d) Difference between Citizen and Alien
e o R ~f1efe
8A /322 ( Turn Over )



(6) (7)

(e) Social Justice (c) What is Liberty? Explain the measures
Afe for safeguarding liberty. 3+7=10
: TR 2 FATE! TR AR T F |
() Features of Liberalism
THAERTA 2 Or / a1
State and criticise the liberal concept of
4. Answer the following : 10x3=30 State. 10
wore frarcaree Ted 34 BT THRSRM LRUCH 0T IR AACEAB F41 |
(a) What is Politics? Discuss the H
philosophical approach to the study of
Political Science. 3+7=10
e ¥ 2 IEafeam s e g
HCATS 4T |
Or / &1
Describe the characteristics of
Behaviouralism. 10
GRS CAMBPTR 361 41 |
(b) Define Power. Discuss various forms of
Power. 3+7=10
wyod ke frm | Wy Rftw  oeREIR
SCETHT 41 |
Or / %31

What do you mean by Authority? Write
about the relationship between Authority

and Legitimacy. 3+7=10
T¢y P & @2 IPg WE (AYOR A
o ey fergn |
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